MARKET STERS

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

Market Steers

Sapp, Ryder

Number	Last	First	KUIP	Weigh t	\$/#	Total	Buy Back Price	Buyer
2 - 164	Sapp	Ryder	84000 32722 77152	1060	\$2.50	\$2,650.00	\$1.50	Peoples Bank, Womack Family Farms, Smith Farms, AW Graham Lumber, Bluegrass Stockyards

Peoples Bank PO Box 367 Flemingsburg KY 41041 Womack Family Farms PO Box 22 Flemingsburg KY 41041 Smith Farms 1279 Smith Pk Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Bluegrass Stockyards East PO Box 765 Mt Sterling KY 40353

- <u>El Mixteco Mexican Bar & Grill</u>
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

FEEDER CALVES

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Stamm, Brantley

Feeder Calves											
Numbe r	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
3 - 165	Stamm	Brantley	8400 0322 2029 892	698	\$4.50	\$3,141.00	\$2.00	In Memory of Mary Beth Corbin Ball			

In Memory of Mary Beth Corbin Ball:

Kent Corbin Corbin Equipment 842 Mt Sterling Rd Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

· · · · · · · · · · · · · · · · · · ·	
Check Received by FCEO: Staff Initials:Date:	
Student or Parent Signature:	_

Smith, Annabelle

Feeder Calves											
Numbe r	Last	First	KU	IP Weig ht	\$/#	Total	Buy Ba	ck Price Buyer			
4 - 166	Smith	Anna belle	840 003 274 072 508	594	\$4.00	\$2,376.00	\$2.00	Community Trust Bank, Robert L Conley Livestock, Jill S Price Dentistry, Fleming Mason Energy, Boone Nickell, Fleming County Hospital, IFM, Riverside Plastics, Hardy Oil, Danny Williams Trucking, Duane Lowe - KY Farm Bureau Agent, Ag Pro Flemingsburg, Family Worship Center, Cole Clark Storage, R & W Dumpster Service, V&V Catering			

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041 Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324 Jill S Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041 Fleming Mason Energy PO Box 328 Flemingsburg KY 41041 Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041 Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041 IFM 3331 Elizaville Rd Ewing KY 41039 Riverside Plastics PO Box 421 Flemingsburg KY 41041

Hardy Oil PO Box 507 Irvine KY 40336

Danny Williams Trucking PO Box 30 Cranks KY 40820

Duane Lowe - KY Farm Bureau Agent 156 Frazier St Flemingsburg KY 41041

Ag-Pro Flemingsburg 2699 Morehead Rd Flemingsburg KY 41041

Family Worship Center 440 Sutton Rd Flemingsburg KY 41041

Cole Clark Storage 640 W Water St Flemingsburg KY 41041

R & W Dumpster Service 150 W Water St Flemingsburg KY 41041

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- **Cheaps Chevrolet** PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:Date:	
Student or Parent Signature:	

Fletcher, Brettley

	Feeder Calves Buy											
Number	Last	First	KUIP	Weight	\$/#	Total	Back Price	Buyer				
5 - 167	Fletcher	Brettley	8400 0327 4072 565	455	\$4.00	\$1,820.00	\$2.00	Community Trust Bank, Robert L Conley Livestock, Jill S Price Dentistry, Fleming Mason Energy, Boone Nickell, Fleming County Hospital, IFM, Riverside Plastics, Hardy Oil, Danny Williams Trucking, Duane Lowe - KY Farm Bureau Agent, Ag Pro Flemingsburg, Family Worship Center, Cole Clark Storage, R & W Dumpster Service, V&V Catering				

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041
Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324
Jill S Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041
Fleming Mason Energy PO Box 328 Flemingsburg KY 41041
Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041
Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041
IFM 3331 Elizaville Rd Ewing KY 41039
Riverside Plastics PO Box 421 Flemingsburg KY 41041

Hardy Oil PO Box 507 Irvine KY 40336 Danny Williams Trucking PO Box 30 Cranks KY 40820

Duane Lowe - KY Farm Bureau Agent 156 Frazier St Flemingsburg KY 41041

Ag-Pro Flemingsburg 2699 Morehead Rd Flemingsburg KY 41041

Family Worship Center 440 Sutton Rd Flemingsburg KY 41041

Cole Clark Storage 640 W Water St Flemingsburg KY 41041

R & W Dumpster Service 150 W Water St Flemingsburg KY 41041

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u>
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC.
 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

Martin, Laken

	Feeder Calves										
Number	Last	First	KUIP	Weight	\$/#	Total	Buy Bac	k Price	Buyer		
6 - 168	Martin	Laken	840003274072567	750	\$3.00	\$2,250.00	\$2.00	In Memory of Mary Beth Corbin Ball			

In Memory of Mary Beth Corbin Ball:

Kent Corbin Corbin Equipment 842 Mt Sterling Rd Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	::Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

Bowling, Avah

	Feeder Calves										
Number	Last	First	KUIP	Weight	\$/#	Total	Buy Ba	ck Price	Buyer		
7 - 169	Bowling	Avah	840003274072566	421	\$4.00	\$1,684.00	\$2.00	Outdo Dinne Farms, W Farm Stock	Bank, Big Blue bor, Yoders Bell, Smith Jomack Family s, Farmers syards, AW am Lumber		

Peoples Bank PO Box 367 Flemingsburg KY 41041
Big Blue Outdoor 2505 KY 11 Flemingsburg KY 41041
Yoders Dinner Bell 1532 Maysville Rd Flemingsburg KY 41041
Smith Farms 1279 Smith Pk Flemingsburg KY 41041
Womack Family Farms PO Box 22 Flemingsburg KY 41041
Farmers Stockyards PO Box 308 Flemingsburg KY 41041
A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

SHEEP

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Cl	

Hazelrigg, Macie

	SHEEP									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer		
1	Hazelrigg	Macie	840003278904907	155	\$23.00	\$3,565.00	\$1.55	First Choice Animal Clinic, Hazelrigg Appraisal, Fleming Meat Packers, Farm Credit, Hinton Mills, Rocking P Livestock		

First Choice Animal Clinic PO Box 235 Ewing KY 41039
Hazelrigg Appraisal 55 JB Shannon Dr Flemingsburg KY 41041
Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041
Farm Credit Mid-America 7112 AA Hwy Maysville KY 41056
Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041
Rocking P Livestock 8308 Orangeburg Rd Maysville KY 41056

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

McCord, Anna

	SHEEP									
Sale Order	Last	First	KUIP	Weig ht	\$/#	Total	Buy Back Price	Buyer		
8	McCord	Anna	84000327890551 3	147	\$7.00	\$1,029. 00	\$1.55	First Choice Animal Clinic, Hazelrigg Appraisal, Fleming Meat Packers, Farm Credit, Hinton Mills		

First Choice Animal Clinic PO Box 235 Ewing KY 41039 Hazelrigg Appraisal 55 JB Shannon Dr Flemingsburg KY 41041 Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041 Farm Credit Mid-America 7112 AA Hwy Maysville KY 41056 Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- <u>606 Sales and Events, LLC.</u> 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
Chaan	

Campbell, Lucas

	SHEEP									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer		
9	Campbell	Lucas	840003278905747	145	\$8.50	\$1,232.50	\$1.55	First Choice Animal Clinic, Hazelrigg Appraisal, Fleming Meat Packers, Farm Credit, Hinton Mills Emily Sapp Farm Bureau Insurance Agent, Campbell Family		

First Choice Animal Clinic PO Box 235 Ewing KY 41039
Hazelrigg Appraisal 55 JB Shannon Dr Flemingsburg KY 41041
Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041
Farm Credit Mid-America 7112 AA Hwy Maysville KY 41056
Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041
Emily Sapp Farm Bureau Insurance Agent 156 Frazier St Flemingsburg KY 41041
Campbell Family 116 Mt Vernon Wallingford KY 41093

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC.
 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initia	ls:	Date:
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		
Chaan		

Ishmael, Kasen

				SHEEP				
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
10	Ishmael	Kasen	840003278905719	163	\$6.50	\$1,059.50	\$1.55	Southern States Flemingsburg, Southern States Maysville, McFarland Chevrolet

Southern States Flemingsburg PO Box 167 Flemingsburg KY 41041 Southern States Maysville PO Box 668 Maysville KY 41056 McFarland Chevrolet Inc PO Box 814 Maysville KY 41056

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Chaon	

Hardin, Alec

	SHEEP										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
11	Hardin	Alec	840003278905718	160	\$8.50	\$1,360.00	\$1.55	First Choice Animal Clinic, Hazelrigg Appraisal, Fleming Meat Packers, Farm Credit, Hinton Mills			

First Choice Animal Clinic PO Box 235 Ewing KY 41039 Hazelrigg Appraisal 55 JB Shannon Dr Flemingsburg KY 41041 Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041 Farm Credit Mid-America 7112 AA Hwy Maysville KY 41056 Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
Chaan	

Berry, Ryleigh

				SHEEP				
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
12	Berry	Ryleigh	840003278905072	160	\$8.00	\$1,280.00	\$1.55	Joey Marshall Hauling, Double D Trailer Parts & Services Sales, Esh Enterprises, Central Bluegrass Realty, Fleming County Lime Spreading, Joey Harmon

Joey Marshall Hauling 1030 Mt Carmel Rd Flemingsburg KY 41041
Double D Trailer Parts & Services Sales 240 Tollgate Dr Flemingsburg KY 41041
Esh Enterprises 1199 Carpenter Rd Wallingford KY 41093
Central Bluegrass Realty 50 River Center Blvd Ste 438 Covington KY 41011
Fleming County Lime Spreading 1318 Martha Mills Rd Flemingsburg KY 41041
Joey Harmon 1019 Secrest Crossing Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	::Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Sheep	

Berry, Charleigh

SHEEP										
Sale Order	Last First KUIP		KUIP	Weight	\$/#	Total	Buy Back	. Price	Buyer	
13	Berry	Charleigh	840003278905071	148	\$9.00	\$1,332.00	\$1.55	Flem South Ma	ern States ingsburg, ern States aysville, nd Chevrolet	

Southern States Flemingsburg PO Box 167 Flemingsburg KY 41041 Southern States Maysville PO Box 668 Maysville KY 41056 McFarland Chevrolet Inc PO Box 814 Maysville KY 41056

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- <u>606 Sales and Events, LLC.</u> 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Chaan	

Ishmael, Karter

Sale Order	Sale Order Last First KUIP		SHEEP Weight \$/# Total			Buy Back Price Buyer		
14	Ishmael	Karter	840003278905724	155	\$7.50	\$1,162.50	\$1.55	Southern States Flemingsburg, Southern States Maysville

Southern States Flemingsburg PO Box 167 Flemingsburg KY 41041 Southern States Maysville PO Box 668 Maysville KY 41056

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u> PO Box 348 Flemingsburg KY 41041

GOATS

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:Date:	
Student or Parent Signature:	

Mitchell, Maria

	GOATS										
Sale Order	Last	First	KUIP	Weight	\$ /#	Total	Buy Back Price	Buyer			
15	Mitchell	Maria	840003278904999	76	\$30.00	\$2,280.00	\$2.25	Mitchell Cabinets, Fleming County Lime Spreading			

Mitchell Cabinets 147 Buck Smith Rd Hogansville GA 30230 Fleming County Lime Spreading 1318 Martha Mills Rd Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u> PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

McGlone, Maggie

				GOATS	S				
Sale Order	Last	First	KUIP	Weigh t	\$/#	Tot	al	Buy Back Price	Buye r
16	McGlon e	Maggi e	840003278905663 0	91	\$27.0 0	\$2,457.0 0	\$2.25	Peoples Bar Graham Lu Bluegrass Sto Womack F Farms, Smith Anthony M Real Estate Denha	mber, ockyards, family n Farms, arshall

Peoples Bank PO Box 367 Flemingsburg KY 41041

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

Bluegrass Stockyards Farmers Stockyards PO Box 308 Flemingsburg KY 41041

Womack Family Farms PO Box 22 Flemingsburg KY 41041

Smith Farms 1279 Smith Pk Flemingsburg KY 41041

Anthony Marshall Real Estate 700 Chapel Ln Flemingsburg KY 41041

Mike Denham 306 Old Hill City Rd Maysville KY 41056

- <u>El Mixteco Mexican Bar & Grill</u>
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

McGlone, Makenzie

	GOATS										
Sa le O rd er	Last	First	KUIP	W ei g ht	\$/#	Total	Buy Back Price	Buyer			
17	McGlone	Makenzie	840003278905641	59	\$25.00	\$1,475.00	\$2.25	Peoples Banks, AW Graham Lumber, Smith Farms			

Peoples Bank PO Box 367 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Smith Farms 1279 Smith Pk Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	::Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

McGlone, Addy

GOATS											
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
18	McGlone	Addy	840003 278905 642	45	\$26.00	\$1,170.00	\$2.25	Peoples Bank, AW Graham Lumber, Smith Farms			

Peoples Bank PO Box 367 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Smith Farms 1279 Smith Pk Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	::Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

Robinson, Ty

GOATS									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer	
19	Robinson	Ту	84000327890560 6	73	\$24.00	\$1,752.00	\$2.25	Farmers Stockyards, Big Blue Outdoor, Yoders Dinner Bell, S&B Cattle Co, AW Graham Lumber, Cannon Angus, Peoples Bank, Womack Family Farms, Smith Farms	

Farmers Stockyards PO Box 308 Flemingsburg KY 41041
Big Blue Outdoor 2505 KY 11 Flemingsburg KY 41041
Yoders Dinner Bell 1532 Maysville Rd Flemingsburg KY 41041
S&B Cattle Co 4561 Iron Works Pk, Ste 190 Lexington KY 40511
A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041
Cannon Angus – Victoria Cannon 2926 Beechburg Rd Wallingford KY 41093
Peoples Bank PO Box 367 Flemingsburg KY 41041
Womack Family Farms PO Box 22 Flemingsburg KY 41041
Smith Farms 1279 Smith Pk Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Pecco, Samantha

	GOATS											
Sale Order	Last	First	KUIP	Weight	\$/#	Total	l	Buy Back Price	Buyer			
20	Pecco	Samantha	8400 0327 8904 918	87	\$25.00	\$2,175.00	\$2.25	Paris Stockyards Stockyards, Hutt Home, Farm Burea Diane Collins Ag Dinner Bell, Jill R Estate Agent, Je Electric, Pecco's G Ronnie Day, Green Products, Hinton Credit Services, Gre	on Funeral au Insurance ent, Yoder atliff - Real erry Curtis Goody Barn, ntree Forest Mills, Farm eg Hazelrigg,			

Paris Stockyards PO Box 5827 Paris KY 40362

Lee City Stockyards 2170 Estes Ln Mt Sterling KY 40353

Hutton Funeral Home 634 Hillsboro Rd Hillsboro KY 41049

Farm Bureau Insurance Diane Collins Agent 156 Frazier St Flemingsburg KY 41041

Yoders Dinner Bell 1532 Maysville Rd Flemingsburg KY 41041

Jill Ratliff - Real Estate Agent 89 Arrowhead Dr Morehead KY 40351

Jerry Curtis Electric 298 Stepping Stone Ln Hillsboro KY 41049

Pecco's Goody Barn 3101 Flemingsburg Rd Morehead KY 40351

Ronnie Day 282 Cumberland Dr Morehead KY 40351

Greentree Forest Products 746 Muses Mill Rd Wallingford KY 41093

Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041

Farm Credit Mid-America 7112 AA Hwy Maysville KY 41056

Greg Hazelrigg PO Box 235 Ewing KY 41039

Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

McGlone, Karlee

	GOATS											
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer				
21	McGlone	Karlee	840003 278905 640	40	\$27.00	\$1,080.00	\$2.25	Peoples Bank, Womack Family Farms, Farmers Stockyards, Big Blue Outdoor				

Peoples Bank PO Box 367 Flemingsburg KY 41041 Womack Family Farms PO Box 22 Flemingsburg KY 41041 Farmers Stockyards PO Box 308 Flemingsburg KY 41041 Big Blue Outdoor 2505 KY 11 Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Init	ials:Date:	
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		

Robinson, Tori

Sale Order	Last	First	KUIP	Weight	GOA' \$/#	ΓS Total	Buy Back Price	Buyer
22	Robinson	Tori	84000 32789 05607	83	\$24.00	\$1,992.00	\$2.25	Community Trust Bank, Robert L Conley Livestock, Jill S Price Dentistry, Fleming Mason Energy, Boone Nickell, Fleming County Hospital, IFM, Riverside Plastics, Hardy Oil, Danny Williams Trucking, Duane Lowe - KY Farm Bureau Agent, Ag Pro Flemingsburg, Family Worship Center, Cole Clark Storage, R & W Dumpster Service, V&V Catering

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041

Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324

Jill S Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041

Fleming Mason Energy PO Box 328 Flemingsburg KY 41041

Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041

Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041

IFM 3331 Elizaville Rd Ewing KY 41039

Riverside Plastics PO Box 421 Flemingsburg KY 41041

Hardy Oil PO Box 507 Irvine KY 40336

Danny Williams Trucking PO Box 30 Cranks KY 40820

Duane Lowe - KY Farm Bureau Agent 156 Frazier St Flemingsburg KY 41041

Ag-Pro Flemingsburg 2699 Morehead Rd Flemingsburg KY 41041

Family Worship Center 440 Sutton Rd Flemingsburg KY 41041

Cole Clark Storage 640 W Water St Flemingsburg KY 41041

R & W Dumpster Service 150 W Water St Flemingsburg KY 41041

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u>
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC.
 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Pecco, Craig

C-1-						GOATS			
Sale Order	Last	First	KUIP	Weight	\$/#	Total	I	Buy Back Price	Buyer
23	Pecco	Craig	8400 0327 8904 919	94	\$25.00	\$2,350.00	\$2.25	Stockyards, Hutto Farm Bureau Ir Collins Agent, Yoo Ratliff - Real Est Curtis Electric, Pe Ronnie Day, Gr Products, Hinton Services, Greg H Meat Packers, E	ards, Lee City on Funeral Home, nsurance Diane der Dinner Bell, Jill rate Agent, Jerry cco's Goody Barn, reentree Forest Mills, Farm Credit azelrigg, Fleming mily Sapp - Farm u Agent

Paris Stockyards PO Box 5827 Paris KY 40362

Lee City Stockyards 2170 Estes Ln Mt Sterling KY 40353

Hutton Funeral Home 634 Hillsboro Rd Hillsboro KY 41049

Farm Bureau Insurance Diane Collins Agent 156 Frazier St Flemingsburg KY 41041

Yoders Dinner Bell 1532 Maysville Rd Flemingsburg KY 41041
Jill Ratliff - Real Estate Agent 89 Arrowhead Dr Morehead KY 40351
Jerry Curtis Electric 298 Stepping Stone Ln Hillsboro KY 41049
Pecco's Goody Barn 3101 Flemingsburg Rd Morehead KY 40351
Ronnie Day 282 Cumberland Dr Morehead KY 40351
Greentree Forest Products 746 Muses Mill Rd Wallingford KY 41093
Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041
Farm Credit Mid-America 7112 AA Hwy Maysville KY 41056
Greg Hazelrigg PO Box 235 Ewing KY 41039

Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041 Emily Sapp - Farm Bureau Agent 156 Frazier St Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- <u>606 Sales and Events, LLC.</u> 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Newsom, Katie

	GOATS											
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back	x Price	Buyer			
24	Newsom	Katie	840003278905705	70	\$25.00	\$1,750.00	\$2.25	AW G Lumbe Farms,	es Bank, raham r, Smith Womack y Farm			

Peoples Bank PO Box 367 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Smith Farms 1279 Smith Pk Flemingsburg KY 41041 Womack Family Farms PO Box 22 Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

McGlone, TJ

GOATS											
Sale	Last Order	Fi	irst K	UIP	Weight	\$/#	Total		Buy Back Price	Buyer	
25	McGlone	TJ	840 003 278 905 637	115	\$25.00	\$2,87	7 5.00	\$2.25	Community Trust Ban Conley Livestock, Ji Dentistry, Fleming Ma Boone Nickell, Flemin Hospital, IFM, Riversid Hardy Oil, Danny Willian Duane Lowe - KY Far Agent, Ag Pro Flemings Worship Center, Co Storage, R & W Dumps V&V Caterin	Il S Price son Energy, ng County de Plastics, ms Trucking, m Bureau burg, Family ole Clark ster Service,	

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041
Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324
Jill S Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041
Fleming Mason Energy PO Box 328 Flemingsburg KY 41041
Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041
Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041
IFM 3331 Elizaville Rd Ewing KY 41039
Riverside Plastics PO Box 421 Flemingsburg KY 41041
Hardy Oil PO Box 507 Irvine KY 40336
Danny Williams Trucking PO Box 30 Cranks KY 40820
Duane Lowe - KY Farm Bureau Agent 156 Frazier St Flemingsburg KY 41041
Ag-Pro Flemingsburg 2699 Morehead Rd Flemingsburg KY 41041
Family Worship Center 440 Sutton Rd Flemingsburg KY 41041
Cole Clark Storage 640 W Water St Flemingsburg KY 41041
R & W Dumpster Service 150 W Water St Flemingsburg KY 41041

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- <u>606 Sales and Events, LLC.</u> 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

Hawkins, Branson

Sale Order	Last	First	KUIP	GOATS Weigh t	\$ /#	Total	Buy Back Price	Buyer
26	Hawkin s	Branso n	8400032789049 88	87	\$28.0 0	\$2,436.0 0	\$2.25	Southern States Flemingsbur g, Southern States Maysville

Southern States Flemingsburg PO Box 167 Flemingsburg KY 41041 Southern States Maysville PO Box 668 Maysville KY 41056

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

HOGS

Thank You Cards received by FCEO: Staff Initials:	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Bussell, Kayleigh

					HOG			
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
27	Bussell	Kayleigh	8400032 7890558 6	300	\$4.00	\$1,200.00	\$0.55	Camargo Transmission

Camargo Transmission 2355 Camargo Rd Mt Sterling KY 40353

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
1.1	

Litzler, Sadie

	HOG											
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer				
28	Litzler	Sadie	840003278905663	240	\$7.00	\$1,680.00	\$0.55	Camargo Transmission, Bluegrass Stockyards East, Smith Farms, Peoples Bank, Chuck Marshall Equipment Auctions				

Camargo Transmission 2355 Camargo Rd Mt Sterling KY 40353

Bluegrass Stockyards East PO Box 765 Mt Sterling KY 40353

Smith Farms 1279 Smith Pk Flemingsburg KY 41041

Peoples Bank PO Box 367 Flemingsburg KY 41041

Chuck Marshall Equipment Auctions 4565 Maysville Rd Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff	Initials:	Date:	
Check Received by FCEO: Staff Initials:	Date:		
Student or Parent Signature:			
11			

Pease, Laney

	HOG											
Sale Ord	er	Last	First	KUIP	Weig	sht \$/#	Tota	l Buy Back Price Buyer				
29	Pease	Laney	840 003 2789 051 14	205	\$5.50	\$1,127.50	\$0.55	Peoples Bank, Big Blue Outdoor, Yoders Dinner Bell, Smith Farms, AW Graham Lumber, Womack Family Farms				

Peoples Bank PO Box 367 Flemingsburg KY 41041
Big Blue Outdoor 2505 KY 11 Flemingsburg KY 41041
Yoders Dinner Bell 1532 Maysville Rd Flemingsburg KY 41041
Smith Farms 1279 Smith Pk Flemingsburg KY 41041
A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041
Womack Family Farms PO Box 22 Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
1.1	

Florence, Caitlyn

					HOG			
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
30	Florence	Caitlyn	840003 278904 995	275	\$4.50	\$1,237.50	\$0.55	Peoples Bank, Womack Family Farms, AW Graham Lumber, Smith Farms, Fleming Lime Spreading Services

Peoples Bank PO Box 367 Flemingsburg KY 41041 Womack Family Farms PO Box 22 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Smith Farms 1279 Smith Pk Flemingsburg KY 41041 Fleming County Lime Spreading 1318 Martha Mills Rd Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u>
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Mullholand, Makynlee

	HOG									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer		
31	Mullholand	Makynlee	8400 0327 8905 697	280	\$4.50	\$1,260.00	\$0.55	AW Graham Lumber, LB Livestock, Chris Kelly (Candidate for Commonwealth Attorney), Smith Farms, Campbell Family		

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041
LB Livestock 5664 Elizaville Rd Ewing KY 41039
Chris Kelly (Candidate for Commonwealth Attorney) 372 Bon Haven Rd Maysville KY 41056
Smith Farms 1279 Smith Pk Flemingsburg KY 41041
Campbell Family 116 Mt Vernon Wallingford KY 41093

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initial	ls:	_Date:
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		
11		

Pease, Robert

	HOG										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
32	Pease	Robert	840003 278900 5110	195	\$6.50	\$1,267.50	\$0.55	Peoples Bank, Bluegrass Stockyards, AW Graham Lumber, Womack Family Farm, Dandy's Dumpsters			

Peoples Bank PO Box 367 Flemingsburg KY 41041

Bluegrass Stockyards Farmers Stockyards PO Box 308 Flemingsburg KY 41041

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

Womack Family Farms PO Box 22 Flemingsburg KY 41041

Dandy's Dumpsters 137 Maddox Pk Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u>
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	::Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Цод	

Edmond, Megan

HOG											
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
33	Edmond	Megan	840003 278904 836	230	\$8.00	\$1,840.00	\$0.55	Peoples Bank, Bluegrass Stockyards, Farmers Stockyards, Cannon Angus,			

Peoples Bank PO Box 367 Flemingsburg KY 41041 Bluegrass Stockyards Farmers Stockyards PO Box 308 Flemingsburg KY 41041 Farmers Stockyards PO Box 308 Flemingsburg KY 41041 Cannon Angus – Victoria Cannon 2926 Beechburg Rd Wallingford KY 41093

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Maynard, Amelia

Sale Order	Last	First	KUIP	HOG Weigh t	\$/#	Total	Buy Back Price	Buyer
34	Maynar d	Ameli a	84000327890502 5	265	\$4.5 0	\$1,192.5 0	\$0.55	First Choice Animal Clinic, Fleming Meat Packers, Farm Credit Services, Jonathon Gay (Candidate for Commonwealt h Attorney), Hinton Mills, Emily Sapp Farm Bureau Agent

First Choice Animal Clinic PO Box 235 Ewing KY 41039
Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041
Farm Credit Mid-America 7112 AA Hwy Maysville KY 41056
Jonathon Gay (Candidate for Commonwealth Attorney) 120 Brookhill Dr Flemingsburg KY 41041
Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041

Emily Sapp Farm Bureau Agent 156 Frazier St Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u>
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
1.1	

Maynard, Autumn

	HOG											
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer				
35	Maynard	Autumn	840003278905023	295	\$4.50	\$1,327.50	\$0.55	AW Graham Lumber, Dandy's Dumpsters, Smith Farms				

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Dandy's Dumpsters 137 Maddox Pk Flemingsburg KY 41041 Smith Farms 1279 Smith Pk Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff I	nitials:I	Date:
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		
11		

Fritz, Reagan

	HOG											
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer				
36	Fritz	Reagan	84000 32789 04921	300	\$6.00	\$1,800.00	\$0.55	Farmers Stockyards, Cannon Angus, S&B Cattle Co, Yoders Dinner Bell, Big Blue Outdoor, Peoples Bank, Chuck Marshall Equipment Auctions, AW Graham Lumber				

Farmers Stockyards PO Box 308 Flemingsburg KY 41041

Cannon Angus – Victoria Cannon 2926 Beechburg Rd Wallingford KY 41093

S&B Cattle Co 4561 Iron Works Pk, Ste 190 Lexington KY 40511

Yoders Dinner Bell 1532 Maysville Rd Flemingsburg KY 41041

Big Blue Outdoor 2505 KY 11 Flemingsburg KY 41041

Peoples Bank PO Box 367 Flemingsburg KY 41041

Chuck Marshall Equipment Auctions 4565 Maysville Rd Flemingsburg KY 41041

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
11	

Cooper, Elarah

	HOG											
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer				
37	Cooper	Elarah	840003278905590	210	\$5.50	\$1,155.00	\$0.55	Peoples Bank, Bluegrass Stockyards, S&B Cattle Co, Farmers Stockyards, AW Graham Lumber				

Peoples Bank PO Box 367 Flemingsburg KY 41041

Bluegrass Stockyards Farmers Stockyards PO Box 308 Flemingsburg KY 41041

S&B Cattle Co 4561 Iron Works Pk, Ste 190 Lexington KY 40511

Farmers Stockyards PO Box 308 Flemingsburg KY 41041

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
1.1	

Cooper, Emily

				HOG				
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
38	Cooper	Emily	840003278905591	225	\$7.00	\$1,575.00	\$0.55	Camargo Transmission, Bluegrass Stockyards East, Peoples Bank, S&B Cattle Co

Camargo Transmission 2355 Camargo Rd Mt Sterling KY 40353 Bluegrass Stockyards East PO Box 765 Mt Sterling KY 40353 Peoples Bank PO Box 367 Flemingsburg KY 41041 S&B Cattle Co 4561 Iron Works Pk, Ste 190 Lexington KY 40511

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	
Student or Parent Signature:	
11	

Bergemeier, Aron

					HOG				
Sale Or	der Last	Fir	est KUIP	Weight	\$/#	Total	Buy B	ack Price	Buyer
39	Burgemeier	Aron	840 0032 7890 5046	260	\$5.00	\$1,300.00	\$0.55	Flemingsun States Ma Marshall Hau Trailer Part Esh Enterpo Bluegrass Re County Lim	rn States rg, Southern ysville, Joey Iling, Double D s & Services, rises, Central ealty, Fleming e Spreading, Harmon

Southern States Flemingsburg PO Box 167 Flemingsburg KY 41041
Southern States Maysville PO Box 668 Maysville KY 41056
Joey Marshall Hauling 1030 Mt Carmel Rd Flemingsburg KY 41041
Double D Trailer Parts & Services Sales 240 Tollgate Dr Flemingsburg KY 41041
Esh Enterprises 1199 Carpenter Rd Wallingford KY 41093
Central Bluegrass Realty 50 River Center Blvd Ste 438 Covington KY 41011
Fleming County Lime Spreading 1318 Martha Mills Rd Flemingsburg KY 41041
Joey Harmon 1019 Secrest Crossing Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Inition	als:	Date:
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		
II		

Reno, Lena

					HOG			
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
40	Reno	Lena	840003 252466 973	285	\$4.50	\$1,282.50	\$0.55	First Choice Animal Clinic, Fleming Meat Packers, Farm Credit Services, Hinton Mills, Jonathon Gay (Candidate for Commonwealth Attorney)

First Choice Animal Clinic PO Box 235 Ewing KY 41039
Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041
Farm Credit Mid-America 7112 AA Hwy Maysville KY 41056
Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041
Jonathon Gay (Candidate for Commonwealth Attorney) 120 Brookhill Dr Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u>
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Ini	tials:	Date:	
Check Received by FCEO: Staff Initials:	Date:		
Student or Parent Signature:			

Maynard, Corbin

					F	IOG			
Sale Order	Last	First	KUIP	Weight	\$/#	To	otal	Buy Back Price	Buyer
41	Maynard	Corbin	840 003 278 905 024	300	\$5.00	\$1,500.00	\$0.55	Community Trust Ba Conley Livestock, Dentistry, Fleming M Boone Nickell, Flem Hospital, IFM, Rivers Hardy Oil, Danny Trucking, Duane Lov Bureau Agent, Flemingsburg, Fam Center, Cole Clark Sto Dumpster Service, V	Jill S Price ason Energy, ning County side Plastics, Williams ve - KY Farm Ag Pro ily Worship orage, R & W

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041 Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324 Jill S Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041 Fleming Mason Energy PO Box 328 Flemingsburg KY 41041 Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041 Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041 IFM 3331 Elizaville Rd Ewing KY 41039

Riverside Plastics PO Box 421 Flemingsburg KY 41041

Hardy Oil PO Box 507 Irvine KY 40336

Danny Williams Trucking PO Box 30 Cranks KY 40820

Duane Lowe - KY Farm Bureau Agent 156 Frazier St Flemingsburg KY 41041

Ag-Pro Flemingsburg 2699 Morehead Rd Flemingsburg KY 41041

Family Worship Center 440 Sutton Rd Flemingsburg KY 41041

Cole Clark Storage 640 W Water St Flemingsburg KY 41041

R & W Dumpster Service 150 W Water St Flemingsburg KY 41041

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- **Cheaps Chevrolet** PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Hog	

Pease, Lucas

				НОС				
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
42	Pease	Lucas	840003278905115	205	\$5.00	\$1,025.00	\$0.55	Peoples Bank, Bluegrass Stockyards, AW Graham Lumber, Smith Farms

Peoples Bank PO Box 367 Flemingsburg KY 41041 Bluegrass Stockyards Farmers Stockyards PO Box 308 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Smith Farms 1279 Smith Pk Flemingsburg KY 41041

- <u>El Mixteco Mexican Bar & Grill</u> 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff	Initials:Date:	
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		

Smith, Eli

						HOG		
Sale Or	rder La	st I	First KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
43	Smith	Eli	840 003 27 890 504 8	255	\$6.50	\$1,657.50	\$0.55	Community Trust Bank, Robert L Conley Livestock, Jill S Price Dentistry, Fleming Mason Energy, Boone Nickell, Fleming County Hospital, IFM, Riverside Plastics, Hardy Oil, Danny Williams Trucking, Duane Lowe - KY Farm Bureau Agent, Ag Pro Flemingsburg, Family Worship Center, Cole Clark Storage, R & W Dumpster Service, V&V Catering

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041
Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324
Jill S Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041
Fleming Mason Energy PO Box 328 Flemingsburg KY 41041
Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041
Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041
IFM 3331 Elizaville Rd Ewing KY 41039
Riverside Plastics PO Box 421 Flemingsburg KY 41041

Danny Williams Trucking PO Box 30 Cranks KY 40820

Hardy Oil PO Box 507 Irvine KY 40336

Duane Lowe - KY Farm Bureau Agent 156 Frazier St Flemingsburg KY 41041

Ag-Pro Flemingsburg 2699 Morehead Rd Flemingsburg KY 41041

Family Worship Center 440 Sutton Rd Flemingsburg KY 41041

Cole Clark Storage 640 W Water St Flemingsburg KY 41041

R & W Dumpster Service 150 W Water St Flemingsburg KY 41041

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC.
 5194 Ewing Rd Ewing KY 41039
- Cheaps Chevrolet
 PO Box 348 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
1.1	

Harris, Isaac

Sale Or	der L	ast l	First KUIP	Weight	\$/#	HOG Total	Buy Back Price	Buyer
44	Harris	Isaac	840 003 278 905 710	272	\$6.00	\$1,632.00	\$0.55	Joey Marshall Hauling, Montgomery Tractor Sales, Stull Truck Repair, Locust Farms, Double D Trailer Parts, Esh Enterprises, Central Bluegrass Realty, Fleming County Lime Spreading, Joey Harmon

Joey Marshall Hauling 1030 Mt Carmel Rd Flemingsburg KY 41041
Montgomery Tractor Sales 1501 Winchester Rd Mt Sterling KY 40353
Stull Truck Repair 1004 Mt Sterling Rd Flemingsburg KY 41041
Locust Grove Farms 217 Traverse Ln Flemingsburg KY 41041
Double D Trailer Parts & Services Sales 240 Tollgate Dr Flemingsburg KY 41041
Esh Enterprises 1199 Carpenter Rd Wallingford KY 41093
Central Bluegrass Realty 50 River Center Blvd Ste 438 Covington KY 41011
Fleming County Lime Spreading 1318 Martha Mills Rd Flemingsburg KY 41041
Joey Harmon 1019 Secrest Crossing Flemingsburg KY 41041

- El Mixteco Mexican Bar & Grill
 765 Mt Sterling Rd Flemingsburg KY 41041
- 606 Sales and Events, LLC. 5194 Ewing Rd Ewing KY 41039
- <u>Cheaps Chevrolet</u>
 PO Box 348 Flemingsburg KY 41041